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(V2-6)0(V2 -4 =7
A. 102 -22

B. }2\/m1

C. 24 -2

D. 26 — 10v2

E. 10 - 11V2

13.

If x is an odd integer greater than 5, what is the next

greater odd integer in terms of x?
x+2
x+3
xX+35
3x
A
x°
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15.

Anne is 3 times as old as Kyle. If their combined age
is 24, how old is Anne?

29.

Which of the following is the slope-intercept form
of a line that is perpendicular to y=— «d:x+ | in the

standard (x,y) coordinate plane and that also con-
tains the point (0, —5)?

A, y=4x—35
1
B. ’VZ—EX
C. y=4x+5
{
D. y=—x-5
E. y=-5x+4

32.

Which of the following is an equation of the circle
shown below?
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F. (\" e 3}2 - }?2 =0

G. (x~ 6P +(y—3F=9
H X~ (y—6F=3

J. X+ (p+3P2=9
K. (x=3P°+(»-3V=9

35.

Given the parallelogram below, what is the area of
the shaded region?

3 \i A. 24
B. 26
“—"ﬁ C. 32
D. 38
E. 40
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A. 10v2-22
B. 122 +24
C. 24 -2
D
E

4) =1

. 26 = 10v2
11v/2

.10~

~lof5

13. If x is an odd integer greater than 5, what is the next
greater odd integer in terms of x7
(AT
B. x+3
C. x+5
D. 3x
E x°

15. Anne is 3 times as old as Kyle. If their combined age
1s 24, how old is Anne?
A, 24
B 8D
C. 12
D. 9
E. 6

A= 3K
a/

N+ k=24

=24
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29. Which of the following is the slope-intercept form
of a line that is perpendicular to y=-—-x+1 in the
standard (x, ) coordinate plane and that also con-

tains the point (0 ~5)? \
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B ;z...——x

C. 1)*4>,+5 o

D. _ { 5 ' == = N
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E. p=-5x+4

32. Which of the following is an equation of the circle

shown below?
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G. (v~ 67+ (y-37=9
H & —(r—6)°=3
Jo (v 3P =9
K. (x~ 3P+ (p—37 =9

35. Given the parallclogram below, what is the area of
the shaded region?
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